Největší dělitel – nejmenší násobek

Zadání: TEST 1

D (12, 30) = 
n (12, 30) = 

D (12, 20) = 
n (12, 20) = 

D (6, 15) = 
n (6, 15) = 

D (10, 14) = 
n (10, 14) = 

Řešení: TEST 1

D (12, 30) = 6
n (12, 30) = 60

D (12, 20) = 4
n (12, 20) = 60

D (6, 15) = 3
n (6, 15) = 30

D (10, 14) = 2
n (10, 14) = 70


Zadání: TEST 2

D (33, 77) = 
n (33, 77) =

D (6,20) = 
n (6, 20) = 

D (12, 18) = 
n (12, 18) = 

D (18, 60) = 
n (18, 60) = 

Řešení: TEST 2

D (33, 77) = 11
n (33, 77) =231

D (6,20) = 2
n (6, 20) = 60

D (12, 18) = 6
[bookmark: _GoBack]n (12, 18) = 36

D (18, 60) = 6
n (18, 60) = 180


Zadání: TEST 3

D(20, 28) = 
n (20, 28) = 

D (45, 63) = 
n (45, 63) = 

Řešení: TEST 3

D (20, 28) = 4
n (20, 28) = 140

D (45, 63) = 9
n (45, 63) = 315


Zadání: TEST 4

D (30, 42) =
n (30, 42) = 

D (60,8 4) =
n (60, 84) = 

Řešení: TEST 4

D (30, 42) = 6
n (30, 42) = 210

D (60,84) = 12
n (60, 84) = 420


Zadání: TEST 5

D (90, 126) = 12
n (90, 126) = 630

D (42, 150) = 6
n (42, 150) = 1050

Řešení: TEST 5

D (90, 126) = 18
n (90, 126) = 630

D (42, 150) = 6
n (42, 150) = 1050

Zadání: TEST 6
D (90, 60) =
n (90, 60) =

D (56, 84) =
n (56, 84) =

Řešení: TEST 6
D (90, 60) = 30
n (90, 60) = 180

D (56, 84) = 28
n (56, 84) = 168
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